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Answer Sheet   Ω 

 

Student Name:………………………………………Student ID:…………………Section:… 

 

 

Each of the following questions counts 2 Marks 
 

  a  b  c  d  

Question 1              

Question 2              

Question 3              

Question 4              

Question 5              

Question 6              

Question 7              

Question 8              

Question 9              

Question 10              

Question 11              

Question 12              

Question 13              

Question 14              

Question 15              

Question 16              

Question 17              

Question 18              

Question 19              

Question 20              

Question 21          

Question 22          

Question 23          

Question 24          

Question 25          

Question 26          

Question 27          

Question 28          

Question 29          

Question 30          
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Choose the correct answer and write it on the answer sheet on page 2 
 

1. If }12,9,6,3,0{},8,7,6,5,4,3,2,1,0{ == BA , }12,10,8,6,4,2{=C , then =∪∩ )( CBA  

 a)   }8,6,4,3,2,0{      b) }12,6,3,0{      

 c)   }12,10,9,8,6,4,3,2,0{    d)  }12,8,7,6,5,4,3,2,1,0{  

 

 

 

2. From the Venn diagram,  BA ∪  

 a)   }d,n,e,b,h,a{     b) }k,m,h,a{      

 c)   k} m,,g,f{     d)  }k m,{  

 

 

3. The simplification of    
72

234

3

)(9

qp

rqp

−

−

   = 

 a)   
6

3

r

q−
      b)  

6

3

rq

−
    

 c)   
5

3

r

q−
      d)   63 rq−  

 

 

 

4. The binary number  100100 in decimal system is equal  

 a) 38      b)   34  

 c)   32      d)   36 

 

 

 

5. The expansion of   )5)(32( 2
−+− mmm = 

 a) 15752 23
+++ mmm    b)  15132 23

+−− mmm   

 c) 15132 23
+++ mmm                       d)  15752 23

+−− mmm  
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6. The solutions of the equation   01522
=−+ xx       are 

 a)   3,5 == xx      b)  3,5 =−= xx     

 c)   3,5 −=−= xx      d)  3,5 −== xx  

 

7. The solutions of  the simultaneous equations   
32

23

=+−

=+

yx

yx
   are 

 a)   1,1 −=−= yx     b)  1,1 == yx   

 c)   1,1 =−= yx      d)  1,1 −== yx  

 

 

 

8. The solutions of  the equation   0372
=+− xx    are  

 a)   
2

377 ±
=x      b)  

2

377 ±−
=x    

 c)   
2

457 ±
=x      d)  

2

617 ±
=x  

 

9. The simplification of  =
−

−
+ baba

45
   

 a)   
))((

9

baba

ba

−+

−−
     b)  

))((

9

baba

ba

−+

+
    

 c)   
))((

9

baba

ba

−+

+−
     d)   

))((

9

baba

ba

−+

−
 

 

 

10. The simplification of  
12

15

3

10

22
−−

÷

+ xx

x

xx

x
  = 

 a)   
)4(2

3

−x

x
     b)   

x

x

3

)4(2 −
    

 c)  
3

)4(2 +x
     d)   

x

x

3

)4(2 +
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11. If   12)( += ttf  and  34)( −= ttg    then   =))2(( fg    

 a)  5       b) 23  

 c) 17       d) 20  

 

12. If   xxf 37)( −= ,  then    

 a)  
x

xf
37

1
)(1

−
=

−     b)  
3

7
)(1 x

xf
−

=
−    

 c)   
7

3
)(1 x

xf
−

=
−     d)   xxf 37)(1

+−=
−  

 
 

13. =








−−

−
−






 −

3

3

4

4

9

0

6

0

3

2

0

1
     

 

 a)   








−

−

−

−

−

−

3

3

1

2

9

1
    b)  









−

−−

3

3

1

2

9

1
 

 c)   








−

−

−

−

9

3

7

6

9

1
    d)   







 −

−

−

9

3

7

6

9

1
 

 

 

14. =






−










− 04

32

15

98
     

 

 a)   








−

−

19

126
     b)  







−

020

2716
 

 c)   








− 1514

2420
     d)   







 −−

3632

211
 

 

15. If   






 −−
=

95

42
A     then   =

−1A  

 a) 








−− 12/5

22/9
     b)  









−− 12

2/52/9
   

 c)   








−− 25

49
     d)   









−

−−

12/5

22/9
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16. If  







=

43

2k
A  is a singular matrix, then the value of =k   

 a)   6=k       b)  0=k      

 c)   
2

3
=k       d)   

3

2
=k  

 

 

17. The simplification  of e
e

ee −







+

32  = 

 a) eee −−
23 3      b)  ee 23

+   

 c)  ee 43
−      d)   eee −+

23 3  

 

 

18. Expressing   x=2log
3

  in exponential form gives 

 a)   32 =
x      b) 9=x   

 c)   6=x       d)  23 =
x  

 

 

 

19. The simplification  of =−+ xx 2log3log2log    

 a)   2log       b)  
3

1
log    

 c)   x3log       d)  3log   

 

 

 

20. If   10)ln(5 =x     then  ====x  

 a)   2e       b) 
2

10
e

    

 c)  
5

10
e

      d)  5
e  
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21. If   2)32(log
3

=−x     then  =x  

 a)   6       b) 
2

5
     

 c)   10      d)  
2

9
 

 

 

22. The equation of the line that has gradient (slope) 5=m  and y-intercepts ( 3− ) is 

 a)   53 +−= xy      b)   53 += xy      

 c)  35 −= xy      d)   35 −−= xy  

 

 

23. The gradient of the line that passes through )3,2(  and )8,5(  is  

 a)  
5

3
      b) 

3

5
  

 c) 
11

7
      d) 

7

11
 

 

 

24. If   15
3

3)(
4

5
+−=

−
x

xxf      then  ====′′′′ )(xf  

 a) 
3

4
5

4
−

−
x

x      b)  54

3

4
15 −

+ xx   

 c)  3
6

3

4

2

−
+ x

x
     d)   33 48 −

− xx  

 

 

25. If   xx eey 22 −
−= ,  then  =

2

2

dx

yd
    

 a)   xx
ee

22 22 −
+      b)  xx

ee
22 44 −

+    

 c)  xx
ee

22 44 −
−      d)   xx

ee
−

− 44  
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26. The stationary point of 433 23
++−= xxxy  is at  

 a)  1=x       b)  3=x   

 c)  1−=x       d)  3−=x   

 

 

27. The function  962
++= xxy    has a  minimum at the point 

 a) )1,3(−       b)  )1,3(   

 c)  )0,3(       d)   )0,3(−  

 

 

28. ∫ =dxe
x6  

 a) Ce
x

+
56      b) C

e
x

+
6

6

  

 c)  Ce
x

+
6      d)   C

e
x

+
7

7

 

 

29. ∫ =++
−

dxxx )7412( 35   

 a) Cxxx ++−
− 72 44     b)  Cxxx +++

− 7412 26   

 c)   Cxx +−
−44 1260     d)  Cxxx ++−

− 722 26  

 

 

30. =∫ dxx 3/2   

 a) Cx +
3/5

5

3
     b)  Cx +

− 3/1

3

2
   

 c)   Cx +
5/3

3

5
     d)   Cx +

3/5

3

5
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